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3.4 Modelling Trinomials as Binomial Products

*If we want to multiply 13 x 17 we can use a grid or area model to find the
answer

3 sy =lovt (30+70) F 2|
o[ Joo |a® =106+ (00 ¢ 2|
3| 10 |l =27’

*How about if we want to multiply two binomials?
ex. (X + 3)(x+7)

X 3
(X+2)(x+ %)
Z
ra
Al X P =X E3REFX 2|
\ ———n—
IX |2
1 = X" 410K £ 2|
*Expand the following
a) (x +2)(x +6) b) (x - 2)(x + 6)
ix:+wwl =X Hbx-2X -12
-7< +IATI2Z = XX -12
X@ d) (xC2)(xC D)
_ SN\
x5 “fX X =~ X=8%x+\2

What do we notlce’?

%J—P&ao\, $ ‘\"\A\‘M\X
%%mrw&w (5%\1%
A@WWMSTMMW He sruinal bvamatal

* TR tewotont Jom o Ha prodael a(H\L
(wotomt MH&W oMyve]




Using this property, could we turn a trinomial into the product of two
binomials?

ex.a) X’ +7x+ 12 b) X¥* +7x+ 13 —= Sl Haore
(-)(_,_3) *LD aat,\.wofe-u’f@/\oos-ﬂ M
ho2 o;S‘WW\_%_}—r no t
c) X2+ 5x +6 d) X2+ x-12 fororedsle.
= (x+2)(x+3) = (X~ 3)(x +¢)
e)x’-x-12 -x+12 —~7e-L = (2
D)k ah
% check oy appomatr
What could go in the missing spot to make the trinomial factorable?
g)+ox+15 =8 h) X2+ 2x + 12
(&)L 3) 70 fackoao of 12 =15 x £
7 = /b 7=+t%} g 4R t2x &b
(xE)xr19) ;20 TEERERER 00
i) X +5x+? J)X-3x+7?

5= Z+3
M’l b /045’7(
I+ >7 4 ypriv?

4 6~ | => 1=k
Algebra tiles can actually be useful! If we can arrange the tiles of a trinomial
into a rectangle, the lengths of the rectangle are the factors of the trinomial.
Remember these examples? Try using tiles to help find the answers.

X’ +5x+86 X+ ?2x+12
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